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NUMEROS ENTEIROS: OPERACIONS COMBINADAS

Calcula:

a) 50-4)+2(-3) e) (-8)cf+2)+(-5)1-3)

b) 20{-8)-3C{-7)-4L{+3) f) (+40):(-8)-(-30):(+6

c) 20:(-5)-8:(+2) 9) (-2)cf-9)+(-24):(-3)-(-6){-4)

d) 6:(+2)+5-3)-12:(-4) hy +27:(-3)-(+3){-5)-(-6){-2)

Resolve:

a) 19-(-3)d5-(+8)| d) 10-(+20):[7+(-3)|

b) 12+(-5)cf8+(~9)] e) (-2)f5-7)-(-3)d8-6)

c) 12-[13-(-7):(-5) fy (9-6)-2)+(13+3):(-4)

Opera:

= 0
~4+(-1)-2+3 ~(+2-3+9)-

2 +5-3 ¢) (+25 +3(—2g :

) B

E)esglfl7813[4—2[3+10 c) 3[5-4(6+5[4-6[5+5

b) 30:6-42:7-27:9-10 d) 504-28:4-3[3-20

Opera estas expresions:

a) (9-13-6+9)(5-11+7-4)

b) -(8+3-10)0(5-7):(13-15)]

¢) (~11)-(-2)fu5-(+11)

d) -4tj(-6)-(-8)]- (+3)d(-11)+(+7)]
e) [(+5)-(+2)]:[(-8)+(-3)-(-10]]

Resolve:

-217+(-10)-21(-3) 10+(-3+2)-21(-3)
2 -(6-4) ) 30{-4)+8+(-3+4)
) -30(5-2)+(-6) ) ~[-(5+12)+(-3)|-(-8)

30-1)-(+2) -(+4-3+6)-(-3)
Opera:

a) -[-(-3+2m®)-(+8-5)-45:(-3)]-(-5)
b) -[-(+2®-24:3)-(4+5-7)]-45:(-9)-(+8)
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8) Resolve:
-41[-8:(-2)+31(-4+2)

3) —2B+10-(+3)

10+(-3+2)+2{+3)
3[(—4)+8+(—3+4)
~5:[20-(+42+13)|
15:(-3)-(-4)
-53-[(42-9)-(8+5-4)+1]
-80{-3)+(-405)-3

b)

c)

d)

9) Opera:
a) +3+QEQ4—9+7)+4[Q3—8+4)
b) 45+ (-7)]-[7-(+3)]¢-3)
¢) -30f+11)-21f(-6)+(-8)-(-2)]
d) -60(-7)+(+3)-(7+6-14)]-(+7){+3)

10) Resolve:
-3([-(+8-7+4)-(-10)]-(-2+6-1)

a) -(+8-3+1)-3@-(-503)

) ~50{-4)-[+72-(+3-5+8)]-5{-4)
-7-30:(-6)-[-(-6+4-8)+3{-4)
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